EAGRAROBREERT — 2 N— ABISH —F

2020528248 (R) 18mAF#1H

Sl % 3m® 307 L8 5AKM

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A~&£] 17 :1,700,000  ~ 23 :680,000 37 :425,000 § ~ 4 3&:255,000 5 7 :170,000 M

BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
Np— Hi5X R :30. —6- . — mAtE (KHF)
Vaw7>>7 850 1(3_0)2 e % ? ig? (&) Pt
R:d—IRYy 7 Bherg2—-N—-Y=— Evie)

S, AP SRS 3 | AAE 1:30.5 3-3-3 (398 — | 6 | 387 |BAEFH (KH)
TREY Y & A51.0 (1 1/2) (+4) Z%Em
Ri*xfavR—5— B:AILET BEH #5

S fos = PEAIIE : 0= — HRER (KH)
RIAFLET — i 3 ) 1.(331).1 2-2-1 | 40.8 3 <4+724> wELA
R bE—XT—F— BLHILI—F il

. ft 3 | SHE 1:31.2 1-1-2 | 40.9| — 7 474 | EHE— (KFH)
J =T ¥¢53.0 (3/4) -2) gﬁﬂi’,;g
R:VEMYA— B:T5FT15 J—ZH—=—F>
2 s 4 3 | SREA 1:31.4 11-8-6 | 40.3| — 1 469 | FESRICHN (/]\#K)
57|11 F7I1ES 5.0 (1 1/a) o |
KB/ wTe BERVITORIA BIA 7 7 — I
AU i 3 | AEE 1:31.6 6-9-7 [40.3| — 10 | 420 | AMEE@E= (K3H#)
6l5|g|¥>YavvRY 54.0 0 47) | EEAE
LT INY 2 R BANILHTRY PR R e
— # 3 | KEEZ 1:31.7 5-7-8 | 40.6| — 8 466 | SRR (KFH)
7|8[14| 7= 54.0 (7€) o |BEEE
R:ZbhAYTUE—> B:Z2X/b04 2 SO ¥/3
N LI AER & : -10- — o RFE— (KH)
8 o NFI/ %Y 3 o 1.(322).1 11-10-10 | 40.5 4 (4_613; b o
x> dAqM0— B:xavILdIN B 77—L
= 403 | WilssEt 1:32.4 13-11-11 [ 40.7| — 9 422 | RWMR (KH)
] 3 IRk it 54.0 (1 1/2) i | ) R
R:T7RI(YL—> B:vO0%%H TR
s = 3 | M I¥zb 1:32.7 445 |41.9| — 5 465 | BOHELZ (KFH)
10l 5| 7FH7 252.0 (1 1/2) 43 | EEBS
L:hzxexy B:74IyvFviR J—HrTp—LA
. B3 | IR 1:32.7 9-12-12 | 40.6| — 12 | 439 |FEEAE (KH)
11813 ¥VIA/ HhF v > 54.0 2E) o |EHEE
x> inAMA— B:vwAIATsO0-F #AR HE
S = s 4 3 | EMEEER 1:32.7 10-13-13 [40.2 | — 13 | 437 | ARELS (i)
12|57 |F—NIT1=27 0 (F) o | KtixR
gL LT Ry IR Bid—d—HLF— AN
HTHE A :33. -14- . — SIBEE (KH)
13 AT VAS AN # 3 o (12313/22) 14-14-14 | 40.6 11 ;1353) q:rﬁﬂ%g
L:boHT—IK B:YLIT7T—K REE
i ;) E 4 3 | AHIEE 1:35.2 8-5-9 |44.2| — 14 424 | MAEMR (KF)
14l 12| ¥ 7/ €/ E7 54.0 (o) o) | HII=EE
L:Er/07ad B:USCR7AYTIO-F e
® 1 —F—@EBIERL
13—=7-—
23—7— |10,1,4,5,14,8,2,12,13,7,(9,11),3,6
== 10,1,4,5,12,2,14,11,8,9,3,13,7,6
43—+ — 1,10,4,2,5,11,8,14,12,9,3,13,7,6
[ N5
B 2 460M 714K 2-4 1,080 e E 2-3 1,750M JEE 1-2-4 6,940/
B B 2 1704 1-2 6004 e B 2=3 2,310 3B 2-4-1 24,230
4 300H 1-4 1,350H B & 2-4 2,910M
1 200M B H 2-4 3,990

ARICOVWTRDTEEERROODE. TR LI,




